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e answer for the following questions from the given choices.

sor surveys the students in her class and finds that 20% are males and 80% are females.

stics B. nominal data C. descriptive statistics D. secondary data.

le of a
arameter B. sample statistic C. population variance D. mode
sed to sample a population so that it is representative of the population?
ations that have the lowest and highest values are selected.
ent in a population is chosen.
t half of a population is selected.
are chosen at random from the population
tion of one or more outcomes from an experiment is called

B. event C. random variable D. random experiment

mive at a hospital accident and emergency department at random at 2 rate of 6 per hour. Now, the
11,30 a.m, What is the probability that the next patient arrives before 11.45 am.?

B. 0.776% C. 0.9975 D. 0.0149

population has mean j = 8 and standard deviation ¢ = 3. Suppose a random sample of size n =
ed, What is the probability that the sample mean is between 7.8 and 8.27

B. 0.6554 C. 03108 D. 0.5279

hod of least squares dictates that we choose a regression line where the sum of the square of
ons of the points from the line is

B. minimum C. zero D. positive
regression line passes through the origin, then:
A. Intercept is zero B. Regression coefficient is zero
C. Correlation is zero D. Association is zero

o

Finding the centred four - quarter moving average helps us identify the
] 1]

A, cyclical component B. trend component -
C. seasonal component D. irregular component

| An overall upward or downward pattern in an annual time series would be contained in which component
of the times series:

A. Trend B. Cyclical C. Trregular D. Seasonal



Write true or false in the given space for the following statements:

11,

12,

14.

- 15,

Fill in the blanks with appropriate answer:

16.

17.

18

185.

20,

A measured characteristic of the sample is called a parameter:

Fl

Graphs, charts and tables that we use to display data by making it easier to understandared

descriptive statistics:
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A random variable that has a normal distribution with mean zero and standard deviation o

a standard normal probability distribution:

Approximately 95.5 percent of the values of a random variable in a normally distributed

within + 3o standard deviation from the mean:

Total area under the normal curve remains 1 and it is true for all continuous probability

distributions:

The strength of the relationship between x and y variables can be identified by

A sampling method in which sample members from a larger population are selected according)

starting point and a fixed, periodic interval is cailed

The component of a time series measures the fluctuations in a time series di

economic conditions of prosperity and recession with duration of approximately 2 years or logg

The three major measures of central tendency are the ' , the

Ina probability, the probability of success is based on pri.or knowledge of
E)

involved and in the probability approach, the probabilites are based on obg

not on pricr knowledge of a process.

(20 x 15
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i)

U.S. companies spent more than $250 billion in advertising in 2018. The spending was as follo

Media Amount ($hillions)

_ Direct mail 45
Internet 10
Magazines 24
Newspapers 50
Radio 26

TV 55
Other 46

a) A marketing student wants to construct a chart to compare the different advertisement mos
appropriate chart that can fulfil his objective.
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b) Another marketing student wants to construct a chart to investigate the portion of each adverf

of the whole. Name an appropriate chart that can fulfil his objective.




Row Data on Utility Charges (5)

202 178 147 102 153 197 127 | 82
90 116 172 11k 148 | 213 130 165
206 175 123 128 144 168 109 167
150 154 130 143 187 166 139 149 |
183 151 114 135 191 137 129 | 158

1

uency distribution, a percentage distribuiion and a cumulative percentage distribution that
ntervals with the upper class boundaries $99, $119, and so on.

Tally Frequency | Percentage | Cumulative Percentage

(3 Marks)

a histogram and a frequency polygon on the same graph.
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¢) Around what amount does the monthly electricity cost seem to be concentrated?

iiiy The number of days that students were missing from University due to sickness in one

follows:
Number of days off sick 1-5 6-10 11-15 | 16-20 | 21-25
Frequency 12 11 10 4 3

a) Estimate the mean and median days oft sick.
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(3 Marks)

the measures calculated in the above two parts, what would you conclude about the days off

ne year at the University?

(2 Marks)
(Total: 20 Marks)



‘Q4 i) Inarecent month, the percentage of orders filled correctly at KFC was approximately
friends of yours are planning to go to KFC this week.

a) What is the probability that all three orders will be filled correctly?
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obability that at least two of the three will be filled correctly?
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(2 Marks)

the mean and standard deviation of the binomial distribution used in (a) to (c)? Interpret these
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i)  Deleven Trucking Company determined that the distance travelled per truck per year is no mally
with a mean of 50.0 thousand miles and a standard deviation of 12.0 thousand miles.

+

a) What proportion of trucks can be expected to travel between 34.0 and 50.0 thousand milesis
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b) What percentage of the trucks can be expected to travel either below 30.0 or above 60.0 tho
in the year?
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es will be travelled by at least 80% of the trucks?
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(2 Marks)

aims that the mean time to write a textbook is less than 15
domly selected and it is found that the mean time taken by
andard deviation is known to be 3.6 months.
0.05 level of significance, would

editor of a publishing company cl

sample of 16 textbook authors is ran

textbook was 12.5 months. Assume also that the st
ibuted and using a

ime to write a textbook is normally distr
clude the editor’s claim is true?

and alternative hypotheses
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(Total: 20 Mark

81
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i) In a small firm, the production of items and the cost during the previous [0 months are shown
below.
Production (‘000 units) L0 | 8 5 4 6 9 11012 ]
Cost (Rs. ‘000) | 22 | 20 | 16 | 11 | 12 | 19 1 15 | 20 ||

a) Draw a scatter diagram for this data.
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Production (000) Cost (*000) XY !' X2
| 10 2
5 8 20
5 16
4 1
6 12 ]
9 19 ¥
10 15
12 20
7 13
I 24

12
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¢) Find the fixed cost of the firm.

4
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d) If the production schedules for the next two months are (A) 10000 units (B) 15000 units, el
cost for the next two months.
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iiy  The following table shows the quarterly production figures (in millions of kg.) of a cement corp

four years. &
Year Q1 Q2 | Q3 Q4
2015 33 31 48 64
2016 74 63 65 102
2017 113 L2 118 125
2018 141 | 130 134 147




.r centered moving averages for this data.

. Pmducmn (Y) | 4-Quarter MA | 4 Quarter CMA | Specific Scasoni\l
-
4
|
-
1
b
1
¥
L |
(2 Marks)

¢ seasonal indices for each of the four quarters using the ratio to moving average method.

Q1

Q2

Q3

Q4

A

Total

Mean

_ | | Adjusted

rrection factor:

..........................................................................................
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15



Seasonal Indices:

Q1: Taz: Q3: | Q4

¢) Find the deseasonalized production figures for the four quarters of 2018.
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standard Normal Probabilities

Table entry for z is the area under the standard normal curve
to the left of z.
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Standard Normal Probabilities

lable entry

Table entry for z is the area under the standard normaly
to the left of z,

Z 00 01 02 03 .04 .05 06

.0003  .0003  .0003  .0003
'3/ b5 0005 | Ba05 00
-3.2  .0007
-3.0 .0013 .
2.9 . .0019
-2.8  .0026
-2.7 0035
-2.6  .0047
~2.5  .0062.
-2.4 0082
~2.3  .0107
2.2 .0139
S201 .01790
2.0 .0228
-1.9¢ .0287 .0
-1.8  .0359
~17 0446 .0436 0427 0418 = 0409
-1.6  .0548 .0537 .0526 .0516
-1.5 ~ .0668 = 0655 .0643 . .0630
-1.4 .0808 .0793 0764

-1.3 0968 | 0951 .09 0918 090!
-1.2  .1151 .

~L1. A357 s
-1.0  .1587 _
-0.9 1841 . 1814 1788
-0.8 .2119

0.7 229207
-0.6 .2743

0.5 .3085 .
~0.4  .3446
~0.3 3821 3783 0
-0.2  .4207
-0.1 4602 ¢
~0.0  .5000

10099 0096 . ,0094
0129 0125  .0122

. 4364
4761

4721




